COS(X + 8X) — cos X
= CO0S X COSdX —sin X sin X — cos X

lim Cosxcos OX—sin Xsin HX—cos X
X

ox—0

B (5X)2
2

or sin 86X — ox

as 0X — 0: cosox — 1 orl

and sin 8x 1

OX
( lim €0S X—Sin X8X—cos X )
oX—0 ox
=-sinX

Bl

M1

M1

Al

Allow h or other letter for 6x throughout

COS(X+0X)—cos X

or lim or may be seen later. Must include lim
5x—0 0% 5x—0
(8%
Allow cos ox = 1 for small dx (orl- 5 )

Allow sin 8x = 6x for small 6x

Both must be explicitly stated for M1
If not stated but implied, MO, but can still possibly gain final Al

Dep on at least B1M1 gained, and approximations either seen
explicitly or seen substituted.

and nothing incorrect seen

NB. cosx — sinX — cos X = — sin X IS incorrect and scores A0
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